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Sl. No.1
QBID:1555051

Identify the correct preposition for making a meaningful sentence.

The detectives found that the victim was stabbed the neck.
(A) on
(B) to
(€) in

(D) at
Answer Given by Candidate : Not Answered

Sl. No.2
QBID:1555052

Identify meaning of the underlined idiom from the options given.

The students were beaten black & blue by the people of the nearby region because of the protest.
(a) to shout loudly

(B) to beat mercilessly

(c) to curse rudely

(D) to abuse repeatedly

Answer Given by Candidate : B

Sl. No.3
QBID:1555053

Choose the correct option to make a meaningful sentence.

My mother wears sarees but last time when I her, she salwar suit.
(A) saw. was wearing

(B) SaW. worn

(€) seeing, is wearing

(D) See. Wear

Answer Given by Candidate : B

Sl. No.4
QBID:1555054

Identify the correctly spelt word from the options given below:
(A) Benedicton

(B) Bereavment

(€) Belicose

(p) Blasphemous

Answer Given by Candidate : A

Sl. No.5
QBID:1555055

Tdentify antonym for the underlined word in the sentence.

The child was set free after his parents paid the ransom.

(A) abducted
(B) ransacked
(€) freedom

(D) seized
Answer Given by Candidate : A

Sl. No.6
QBID:1555056

Identify the correct passive voice for the sentence given below :

The thief stole several possessions from the house. Even the fridge has been emptied.

(A) Several possessions were stolen from the house by the thief. Even the fridge he has emptied.




(B) Several possessions were stolen from the house by the thief. Even the fridge was emptied.
(c) Including the fridge. several possessions from the house have been emptied by the thief.

(D) The thief being stolen several possessions from the house. also fridge has been emptied.

Answer Given by Candidate : B

Sl. No.7
QBID:1555057

Identify the correct indirect speech for the sentence given below:
Rajesh said, "Dr. Babasaheb Ambedkar was born in Mhow, Madhya Pradesh".

(A) Rajesh told that Dr. Babasaheb Ambedkar had born in Mhow. Madhya Pradesh.

(8) Rajesh asked that Dr. Babasaheb Ambedkar born in Mhow. Madhya Pradesh.

(¢) Rajesh suggested that Dr. Babasaheb Ambedkar is born in Mhow. Madhya Pradesh.
(p) Rajesh said that Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh.

Answer Given by Candidate : A

Sl. No.8
QBID:1555058

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Saussure stressed

P:in a language's structure and maintained

Q : the interaction at any one time of elements

R : in a network of relations

S : that these were interrelated
(a) RSQP
(8) PSRQ
(c) QPSR
(p) SRPQ

Answer Given by Candidate : C

Sl. No.9
QBID:1555059

Choose the correct sentence.

(A) I hope you will excuse me leaving early.
(8) I hope you will excuse my leaving early.
(c) I hope you will excuse mine leaving early.

(p) I hope you will excuse leaving early.

Answer Given by Candidate : D

Sl. No.10
QBID:15550510

Find out which part of the sentence has an error.

(A) With the demand for more working hours.

(B) people are awake till late at night and

(c) indulge in more junk food than home-cooked food.

(p) No Error
Answer Given by Candidate : B

Sl. No.11
QBID:15550511

Who among the following was an Indian American biochemist who shared the 1968 Nobel Prize for Physiology or Medicine with
Marshall W. Nirenberg and Robert W. Holley for research that showed the order of nucleotides in nucleie acids. which carry the ge:
code of the cell and control the cell's synthesis of proteins ?

(A) Visvesvaraya

(8) Meghnad Saha

() S.N.Bose

(D) Har Gobind Khurana

Answer Given by Candidate : Not Answered

Sl. No.12
QBID:15550512

India's first National Sport University is located in which of the following State/Union Territory of India ?




(A) Delhi
(B) Goa
(€) Manipur
(p) Haryana

Answer Given by Candidate : Not Answered

Sl. No.13
QBID:15550513

Security Printing and Minting Corporation of India Limited (SPMCIL) has set up two new bank note printing lines which are locat:
(A) Nepanagar and Salboni

(8) Dewas and Nepanagar

(c) Salboni and Hoshangabad

(D) Nashik and Dewas

Answer Given by Candidate : Not Answered

Sl. No.14
QBID:15550514

Which country is the largest shareholder of ATIB (Asian Infrastructure Investment Bank) ?
(A) Germany

(B) France

(€) China

(D) India
Answer Given by Candidate : Not Answered

Sl. No.15
QBID:15550515

Which of the following is TRUE about the Preamble to the Constitution of India 7

(A) 429 Amendment to the Constitution added words Secular and Socialist to the preamble.

(8) B.R. Ambedkar wrote the Preamble of Constitution of India.

(€) The Preamble was added to the Constitution after the enactment of Constitution itself.
(D) The Preamble has been amended twice since the enactment of the Constitution.
Answer Given by Candidate : Not Answered

Sl. No.16
QBID:15550516

In a row of girls, Roopa is 7% from the left while Sunita is 12 from the right. On interchanging their respective positions, Roopa
becomes 22 from the left. How many total number of girls are there in the row ?

(A) 35

(B) 33

(c) 38

(D) 37

Answer Given by Candidate : B

Sl. No.17
QBID:15550517

In a row of people Anamika is o from the left and Urvashi is 13® from the right. When they change their positions and then Anan
becomes 18™ from the left. What is the new position of Urvashi from the right end of the row ?

(A) 23

(B) 22

() 24

(D) 25

Answer Given by Candidate : B

Sl. No.18
QBID:15550518

In a row of boys. if Akash is 101 from left and Bimal is O from the right. When they interchange their positions, then Akash beco
15 from the left. How many boys are there in the row ?

(A) 22

(B) 25

©) 23

(D) 26
Answer Given by Candidate : C

Sl. No.19
QBID:15550519




L.K.H.R.F, L. N & Q are sitting around a circular table facing the center. H is third to the left of L. who is the immediate right of
third to the left of N but not neighbour of H or L. T is second to the right of Q. Who is second to the left of N ?

) Q
) Forl
) T
o) K

Answer Given by Candidate : C

Sl. No.20
QBID:15550520

A.B.C.D.E.F. G and H are players sitting around a round table facing the centre. D is the neighbour of A but not of H. B 1s the
neighbour of F and 4™ o the left of D. E is the neighbour of H and 39 to the right of F. C is neither the neighbour of A nor of G.

Which of the following is correct.
(A) B is to the immediate left of H.
(B) H is to the immediate left of E.
(C) D is 4th to the right of F.

(D) H is immediate right of E.
(A) onlyAand B

(8) onlyAand C

(c) onlyBandC

(p) onlyA. Band C

Answer Given by Candidate : C

Sl. No.21
QBID:15550521

In a plane. there are 16 non-collinear points. Then the number of straight lines formed is
(A) 24

() 30

©) 60

(D) 120

Answer Given by Candidate : Not Answered

Sl. No.22
QBID:15550522

A student has to score 30% marks throughout. If he gets 30 marks and fails by 30 marks. then the maximum marks set for the exan
is

(A) 100
(B) 150
(c) 200
(D) 400

Answer Given by Candidate : Not Answered

Sl. No.23
QBID:15550523
Q

A man bought 20 cows in ¥ 200000. If the average cost of 12 cows is ¥ 12500. then the average cost of remaining cows will be *
(A) ¥ 0250
(B) ¥ 6520
(c) ¥ 6025
(D) ¥ 6052

Answer Given by Candidate : A

Sl. No.24
QBID:15550524

A sum at simple interest of 13%% per annum amounts to ¥ 3080 in 4 yr. then the sum is

(a) 3000
(8) ¥ 2000
(c) ¥ 1000
() ¥ 2500

Answer Given by Candidate : Not Answered

Sl. No.25




QBID:15550525
The system of equation 2x + 4y + 16 =0and 3x + 6y + 24 =01s

(A) Unique solution
(8) Infinitely many solutions

(€) Inconsistent
(p) Only two solutions

Answer Given by Candidate : D

Sl. No.26
QBID:1234561

According to Slater's rules. the effective nuclear charge (Z_g) for a 2p electron of carbon is -
(A) 2.75

() 3.25

(© 4.00

(D) 6.00

RIS 00 & SINIR, FTE P 2p o & 1070 FHTE! AMNS SR (Zo) T -

(A) 2.75

(8) 3.25

(c) 4.00

(D) 6.00

Answer Given by Candidate : A

Sl. No.27
QBID:1234562

According to the Lewis structure for HNNH. how many ¢ bonds, 7 bonds and lone pairs of electrons are present?
(A) Sigma bonds { ¢ ) - 2. pi bonds () - 2. lone pairs of electrons (n) - 2
(B) Sigma bonds (¢ ) - 3. pi bonds () - 2. lone pairs of electrons (n) - 0
(c) Sigma bonds (g ) - 3. pi bonds () - 1. lone pairs of electrons (n) - 2

(p) Sigma bonds () - 3. pi bonds (x) - 0. lone pairs of clectrons (n) - 4
HNNH & T8 URa1 & S8R, 508 [ ¢ ¥, 7-8Y TUT TohTa] gade g7 Sufiyd g2
) Y (6 )- 2. =8Y (x) - 2. THIBI Aaci GH (n) - 2
® AEEY (6)- 3. -89 (x) - 2, TPIHI gAaEIT GH (n) - 0
© TAHIEY (5)-3, =8Y (n) - 1, THTHI AT GH (n) - 2
(@ AHIEY (5 )- 3. =-FY (x) - 0, THIBI G GH (n) - 4

Answer Given by Candidate : C

Sl. No.28
QBID:1234563

Which set of elements has the lowest melting points?

(A) Alkali metals
(B) Alkaline earth metals
(¢) Transition metals

(D) Lanthanide metals

ddl & BHY THE BT TS HHaH § -
() &R Uigd

(8) &RIT HeT Urgd

(©) Wﬁf@ﬁ

(0) TUIES Uy

Answer Given by Candidate : C

Sl. No.29
QBID:1234564

Given below are two statements :

Statement I : Hard acids form complexes with stabilities in the order : I" <Br™ < ClI” <F~

Statement IT : Soft acids form complexes with stabilities in the order : F~ < CIT < Br~ <"

In the light of the above statements. choose the most appropriate answer from the options given below:

(A) Both Statement I and Statement IT are correct



(B) Both Statement I and Statement II are incorrect
(C) Statement [ is correct but Statement II is incorrect

(D) Statement [ is incorrect but Statement II is correct

BY 1 : YOS 3 VI b SH PH b WY P S §: " < Br~ < CIT < F~
BHY 11 : g0 ST Wi & T 0 & WY P G g : F- < CI-<Br <1
SWRIGd BY & 3Teiiep H, i AU 71U fasedl © O Y8 3ugad IR &1 99 Sl -

() FYFI AR 11 ST T8 &
(8) FHYFI R 11 G 7TaId §
(©) FUTI1Te! §. Ao HYF 11 70d §
(D) HUF 17104 §, A= U1 Tl §

Answer Given by Candidate : Not Answered

Sl. No.30
QBID:1234565

The potential diagram for manganese at [H' | =1 is given as (values are in V)

Z

MnO; —236 5 mnod~ 3228, Mo, =095, o >Mn?t 5 Mn

| y T1 x

X,y and z are
(A) X=-1246,y=+282 z=+132
(8) X=+123,y=+1.69,z=+151

(€ x=+123,y=+207.z=+132

(o) x=+123. y=+138 z=+151
[H'] =1 H A7S o1 fava ST FergeR & (7H @1 v H exifar mrg)

Z

MnO > Mn03~ #2285 Mo, =093 5 ™ e 5 Mn?! 3 Mn

| y Tl x
L yﬁ?z%ﬂﬂ%:

(A) X=+246.y=+282 z=+132
(8) Xx=+123.y=+1.69,z=+151

+0.56

(€) x=+123,y=+207,z=+132
(0) x=+123.y=+138,z=+151

Answer Given by Candidate : Not Answered

Sl. No.31
QBID:1234566

Which of these characteristics describe the PCl; molecule?

A Trigonal planar shape

B. sp® hybridized phosphorus atom
C. Polar bonds
D. Nonpolar molecules

Choose the correct answer from the options given below :
(A) Aand B only

8) B and C only

(¢) AandD only

(o) B.CandD only




5 7 3 S Sifiriefon pel, S Iar g 2

A il gadd PR
B. BIEHRE TRH] sp® THRkd 8
. ydigsy g
D. 3Hyd e
419 AU Y faspedl § ¥ 9ed SUgad IR 1 90 B :
(A) Had AdUB
(8) HAAB AU C
() HATATYID
(0) PAUB. CTAYID

Answer Given by Candidate : A

Sl. No.32
QBID:1234567

The correct increasing order of bond angle among F,0. Cl,0 and Br,0 is (X — O — X, where X is F. CL Br)
() F,0<CLO<Br,0

8 F,0<CLO=Br,0

(© CLO<F,0<Br,0

() Bry,O <CLO<F,0

F,0. CL,0 3R Br,0 & Ug! Y DI Bl dedl U § | (X - 0 - X. &6l X =F. CL Br)

() F,0<CL,0<Br,0

(8) F»,0<ClL,0=Br,0

(© CLO<F,0<Br,0

(0) Br,0<CLO<F,0

Answer Given by Candidate : A

Sl. No.33

QBID:1234568

What is the ground state electronic configuration for the Cu atom?
(A) 152 2s? 2p? 3s? 3pf 3d° 457

(8) 1s?2s? 2p% 352 3p03d10 45!

(© 1s?2s? 2p% 3s? 3pf 343 45°

(0) 1s? 2s% 2p% 357 3p®3d° 4s! 4p!

Cu TRHT BT G0 Haw1 § 3adel-a a8 Fr s 2
(a) 152267 2132 3s2 3136 3d° 4¢7

(8) 152267 2136 3s? 3136 3d10 45!

(© 1s22¢? 2136 3s? 3136 3d? 4¢°

() 1s? 25 2136 3s? 3136 3d° 45! 4p1

Answer Given by Candidate : B

Sl. No.34
QBID:1234569

In the molecular orbital thoery

e —

The following graph represents
(A) Voonding =Va T VB
(B)



Wantibonding = ¥A ~— VB
©) W4 and Yp for individual hydrogen atoms

(p) Probability function for bonding orbitals

H DD Rgid d

T l— —
e

frafefad s ekl axar @ |

() Vamme =Va T VB

B) Vufamaaa =AWV

(©) 3UT BIZGIeH TRHATY & 1T v 4 SR g
(D) 3ME=H D& b (AU Wikddl Bad

Answer Given by Candidate : D

Sl. No.35
QBID:12345610

In the reaction
2MnOj} +16H” +10Br~ —2Mn?* +8H,0 + 5Br,

By ion is the

(A) Oxidizing agent and is oxidized
(B) Oxidizing agent and is reduced
(¢) Reducing agent and is oxidized

(p) Reducing agent and is reduced
sififspar

2MnOj +16H" +10Br™ —2Mn*" +8H,0 + 5Br,

Br~ 3T
(a) HFPRS g Ul AP giars |

(8) IHTFHPRS & TUT AT=ERAd eaT g |
() 3T § aul SHiaiepd giare |
(D) 3UETD § qYT IR EIaTg |

Answer Given by Candidate : B

Sl. No.36
QBID:12345611

For the Lanthanides

A. Lanthanides display only the (+3) oxidation state.
B. Oxidation numbers (+2) and (+4) occur when they lead to a noble gas configuration.
C. Oxidation numbers (+2) and (+4) are observed when they lead to a half-filled orbital.

D. Yb?" has a completely filled f-orbital.
Choose the correct answer from the options given below :
(A) Aonly
8) B and C only
(¢) CandD only
() B. CandD only



AYTMES & ol

A. QUATTS $ad (+3) AT TS & |

B. (+2) TUT (+4) HTRITHR0T I e U] 9iTcll & ofd & iad 114 fa=0a &I Wi aRd © |
C. (+2) TUT (+4) S0 G=IT 9fd U St § 91 51 SiG-URd BB gia ¢ |

D. Yb2™ H £-heib Juf URA §Id & |

I feu U fdopedl § 8 Gad SUgad Gk o] 90 Bl :
(A) Had A
(B) HAA B AU C

(©) HIACTYUTD
(p) &ad B, CdUID

Answer Given by Candidate : Not Answered

Sl. No.37
QBID:12345612

Given below are two statements :
Statement I : The electronic structures of the atoms in the second and third rows of transition metals always follow the pattern of th

row.
Statement I : The electronic configuration of Pd is [Kr] 4410 550,

In the light of the above statements. choose the correct answer from the options given below:

(A) Both Statement I and Statement IT are true

(B) Both Statement I and Statement IT are false

(€) Statement I is true but Statement II is false

(D) Statement I is false but Statement IT is true

Y 1 : GO YISl P f5cd1g Td Jeily Gleki o IRATU[SHT D1 Seiaeii-is Y= GHRI UYH Uik & WidR=Y BT HTERU B |
@Y 11 : Pd DT SO 001 [Kr] 4d° 5s° BT B

SWRIGd SY P il H, -4 fau 74 famedt & 9 Fgi SR &1 98- Sifoie -

(A) HYFI R GH T §

(8) HYFI AR GHI 3TA ©

(© TUT19d . At HYT 11 379 ©
(D) Y 3T B, Afp PUF 1 T §

Answer Given by Candidate : B

Sl. No.38
QBID:12345613

Fe(H 20};+ is a high-spin complex that absorbs light at about 1000 nm, corresponding to a transition between 5ng and SEg levels,
wave number of the radiation is
(A) 100 em™!
(B) 1000 cm™!
(©) 10.000 em™!
(D) 100,000 em™
Fe{H20]§+ 0% 3= FehUl G § Off fdh *T,, TUT °E, TR & ¥ AU & T 1000 nm TR TSI qLfid et ¢ | fa
(A) 100 em™!
(B) 1000 cm™!
(€) 10.000 e
(D) 100,000 em™!

Answer Given by Candidate : Not Answered

Sl. No.39
QBID:12345614

The observed magnetic moment of a complex is 1.73 BM. The number of unpaired electrons in the complex is
A) 0
(®) 1




©) 2
(D) 3

TP S Bl W& a1 370l 1.73 BM§ | S9d B SR soagi-l & 98T 3 -

n) 0
) 1
(c) 2
(D) 3

Answer Given by Candidate : B

Sl. No.40
QBID:12345615

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The binding energy of metallic lithium exceeds that of the Li; molecule though the Li-Li distance in the metal (3.03 .

significantly larger than in the diatomic Li; molecule (2.67 A).

Reason R : The bonds in the metal are weaker, but there are more Li-Li bonds in the metal.
In the light of the above statements. choose the correct answer from the options given below :

(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(C) A is true but R is false
(D) A is false but R is true

:ﬁ%as[mﬁ—qwg:@S{f\'l-laﬂl:f(AssertionA)%Wﬁﬁ@ﬂ%?ﬁmmm(meason]{)%mﬁ:
HMHYT A : UTfcdap [T &1 9= Soll Li, 30 F 344 gic § gaft ord ¥ Li-Li g1 (3.03 A) B Off b fgWRA Li, (2.67
JodT U HRIF T |

PRUIR : U1 § §Y HHGR 8Id § AP 370 Li-Li 98 T & D 51 3 |

SWRIGd Y D a1, Al 6T 7 fawedl H U 969 Sugad SR &1 99 HIlU -

(&) AJRREH Tel & R R. AT Te! TS ©

) AJRRIH el T, AfFTR. AT Gt TR e &

© AGEIRABIRTE TSR

() AT TS AFIR TS T

Answer Given by Candidate : Not Answered

Sl. No.41
QBID:12345616

Given below are two statements :
Statement I : A solvent with a large auto protolysis constant can be used to discriminate between a wide range of acid and base stre

Statement II : Water have a leveling effect that brings all stronger acids down to the acidity of H;0™.

In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement I and Statement IT are true

(B) Both Statement I and Statement II are false

(€) Statement I is true but Statement II is false

(D) Statement I is false but Statement IT is true

T 1 : bl T {91 & 3T 9 &R B gaad] H f[aHE B o, TP [ forg sicl Uieiees unie <id § &1 3uan
S AT |

U 11 : OE 1 AlaTeT YT ER1 G Had Sl 1 Ul U2 $R Hy0™ 1 HHeddl & SRIaR 8l ol & |

SWRIGd PY P feiiep |, 4 e T4 fapedi F 9 Fet R @1 957 P :

() YT AR IS T &

(8) HUF 1 HR 11 I AT

(© HUT19A . Al PUT 11 39 §
(D) FYI A B, A PUT 1 T §

Answer Given by Candidate : Not Answered

Sl. No.42
QBID:12345617

The oxidation state of iron in haemoglobin iz
a) +1
(8) *2



(© +3

() 0

feraia H SR 31 STafiaor g g -
(a) 1

(B) 2

(c) +3

(o) 0

Answer Given by Candidate : B

Sl. No.43
QBID:12345618

Given below are two statements :

Statement I : The Stille coupling uses stannates as the organometallic component.

Statement IT : The Suzuki coupling involves organosilyl as the organometallic component.
In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement I and Statement I[ are true

(B) Both Statement I and Statement II are false

(C) Statement [ is true but Statement II is false

(D) Statement [ is false but Statement II is true

FYA 1 ¥Idl G F AT Sladiid® Ued & &9 § Jan fear amarg |

HUA I : oI A B IR Sreefad gee & =4 § §ur i e |
SWRIGd HYF D WD 5, H1d QU T fdoedi & I Fel SR o1 9 Difeie -

A FYFIRIEH T &

(8) HYFI IR GHI 3T T

(©) Y1 IA B, A Y11 3T &
() FYIITAL. A FAFUHA I T T

Answer Given by Candidate : Not Answered

Sl. No.44
QBID:12345619

The point group to which CH, belongs is
(&) Day

® Cu

© Cap

® Tg

CH, &9 Ulg= Ju 4 9&Ed g -

(A) Dgp

® Cu

(© Cap

® Ty

Answer Given by Candidate : B

Sl. No.45
QBID:12345620

A particle is considered to be nano when its radius is in the region.
@ 101 t01071%y

®) 10709t 10%m

© 10%t010%m

® 108t 107 m

s SU I S0 S 9 8 0F &1 & fod B feg 47 A 9efia g |

@) 101t010710m
8 1079010 m
© 10%t010%m
® 10%t0107 m

Answer Given by Candidate : C




Sl. No.46
QBID:12345621

The molecular orbital diagram for the 2~ ion would show which of the following molecular orbitals?

2( =\2, 2 o= 2 14
(A) l:ﬁls] |Iﬂlsl "ﬁls-l [625' '|__‘1t:p_l
2 w2, 2 a2 4 W2
®) (oy) (o) (03,)7 (03] (map) (02p)
24wl ¥4 w2y 4y A2 e KD
© 1”15] |Gls_k Ilﬁ.’sl l:ﬁlsl ll'rl:,‘.p-l {ﬁﬁpl I-‘T).p-l
2/ +\2 34 a2 2 4
| 2 vy
(P) lcls] |Gls_] [625] l'.Gls| l:Glp-] (nﬁp]
o2~ 3T &1 31D Da ARG HEfaiad U 3 By 31Ugd SHad GIE 2
2/ »\2, YR Y 4
(A) l:Gis] |lﬁlsl I‘”Is] [625' Il._nlp_l
A7 vk 2/f =2 4 w2
®) (o) (o) (03] (0] (map) (02p)
2{ =12, Ff vy vy \2 ™ v2
(©) J'ﬁls] |Gls_ "ﬁ.’sl l:ﬁls] ll"E.‘p.l {'Tﬁpl I-‘T.‘p.l
[ 21 +3\2 V24 = \2 2 4
(P) lcls] |Gls_] [625] l'.Gls| l:Glp] (T[:p]
Answer Given by Candidate : D
Sl. No.47
QBID:12345622

Which one of these hydrogen atom spectra are observed in the visible region?

(A) n=3 —-n=2
(B) n=4—n=3
() n=2—n=1
(D) n=5—=n=4
79 & T Sl gE g IREm] Tael e vaE J MAd giare 2

(A) n=3—=n=2

(B) n=4 —n=73:
(c) n=2—n=1
(D) n=5—n=4
Answer Given by Candidate : Not Answered

Sl. No.48
QBID:12345623

Identify the graph which shows variable positive acceleration [v = velocity. t = time].

T

v

)

(A)

«—

(B)

e

«—s

©)

t—>
(D)



v
{—>
gfad YFTE® @R & &2 aTe IS &I 98 di-d [v = 971, + = GH).
T
G
(A)
‘“
t—>
T
A\
(B)
I
T o—
T
v
(©)
=
T
v
(D) \
t—

Answer Given by Candidate : D

Sl. No.49
QBID:12345624

Gases A, B, C and D obey the vander Waals equation with 'a" and 'b' values as given (liter-atm system of units of) :

A B & D
a 6 6 6 6
b 1 2 3 4
The gas has the highest critical temperature.
(A) B
(8 C
© A
() D
TRI A, B, C QYT D d1-SR alcd FHIER0 &1 2" 01 'b' & 1Y ITe PRl 5 | a8 718 A3 (effeR-atm e Homa) -
A B C D
a 6 6 6 6
b 1 2 3 4

g8 9. forae1 3=ad @ifd® dd &:
() B
;) C
© A
(o) D

Answer Given by Candidate : Not Answered

Sl. No.50
QBID:12345625



Calculate the number of molecules with translational energy E,,,, = 3.0 kT relative to that with E, . =2.0 kT. (Given: e =2.72)

A) 0.37
(B) 0.61
(c) 1.64
(p) 2.72

R FHoll Eyp = 3.0 kT HE, = 2.0 kT & A1 U BT W] 1 URB a1 Diford : ([GATTTE : e =2.72)

A) 0.37
(B) 0.61
(c) 1.64

(p) 2.72
Answer Given by Candidate : Not Answered

Sl. No.51
QBID:12345626

The reaction between hydroxide ion. 0H ™~ and phosphinate ions, H,PO;

H,PO; (aq) + OH™ (aq) — H, (g) + HPO?~ (aq)

has been studied by following the initial rate of formation of the gaseous product. The results are tabulated below :

Initial Initial Initial rate of
. NJ| concentration of | concentration of [Hz(g) evolution
HEPO}-:aql-’mol(!.m_3 0H'€aq].-‘1ncldn1'5 10~ 2 dm> min 1
1 |06 1.0 2.3
2 |06 2.0 9.3
3 |01 6.0 144
4 (02 6.0 28.7

What is the overall reaction order?
n 1

(B)
()
(D)

TESIAGS 3T (oH~ ) TU BIRBAT ST (1,po; ) & HH UTHaT 31 g IdIE & 97 B URMID 31

SN PRI )

H,PO; (aq) + OH™ (aq) —H, (g) + HPO? ™ (aq)

T 37 fopgT T | S aiumE e IR S e T g

H,(2) Ao

= TRMG AigaT | IR Aigd | o1 uRf@e
"1 H,POj(aqi/melam™  |OH {aq)/mel dm™ an

10 3 dm? min !
1 |06 1.0 2.3
2 |06 2.0 9.5
3|01 6.0 144
402 6.0 287

(D) 4

Answer Given by Candidate : B

Sl. No.52
QBID:12345627

If temperature becomes infinite then identify the correct pattern of the plot Ink (k is a rate constant) v/s ?: using arrhenius equatio

Reae Ba
RT

(R)




Ink

Ink
(B)
#
Ink
(©)
n -
™
Ink
(D)

=

SR AT A BT, luk (k 371 FRRI®) vs %%aﬁaaﬁ%ﬁwm[ k=Ae” £2 | IWMI U FIUS URU B
RT

ggaia 2

T \
Ink
(A)

Ink
(B)

.
——
I =y
3
7 /
Ink
©
-
A

Ink
(D)

7

Answer Given by Candidate : A

Sl. No.53
QBID:12345628

Consider a system consisting of 1 mol of a monoatomic gas contained in a piston. What is the temperature change of the gas if q =
and W =—100 J? (Given : R =8.31 JK! mol™))
(A) —12°C



(B) —4°C
(c) 4°C
(p) 12°C

foaR HifoTE Ue oF fored | 79 Ue RATS 719 U@ e 1 8. fE q = 50 7aUT W=-100 1 § O 719 & aram@ & fa=n it
g (I Mg - R =831 1K~ mol ™)

a) —-12°C

(B) —4°C

(c) 4°C

(p) 12°C

Answer Given by Candidate : Not Answered

Sl. No.54
QBID:12345629

For a cyclic irreversible process, the total work done by the system is :
(A) always positive

(B) always negative

(c) equal to zero

(D) equal to infinity
T HIGHHUNT UehH & ol odt oF g1 fasar T &ri g1 -
(A) BHRT YD
(8) EHRM BUTEHD
(©) QEE[%W
(D) 3 & IR

Answer Given by Candidate : C

Sl. No.55
QBID:12345630

Which of the following are not state functions?

Aqt+tw
B.q
C.w

D H-TS
Eq-—w

Choose the most appropriate answer from the options given below :
(a) AandD only

(8) B and E only

(¢) B.CandD only

(p) B.CandE only

fFofafaad I oH sTen waT A8 8 2

Agtw
B.q
C.w
D.H-TS8
Eq-w

I feu U fdepedl § 8 qad SUgad STk o] 90 DIl :

(A) DT ATYID
(8) Had BAUTE
() FAAB, CTUID
(0) HTAB, CTUTE

Answer Given by Candidate : C

Sl. No.56
QBID:12345631

A solution is prepared by dissolving solute A in solvent B. and it is found that A_; H> 0: this indicates that :

(A) A-B interaction is same as in A-A and B-B interactions in the pure liquids.



(B) A-B interaction is less as compared to A-A and B-B interactions in the pure liquids.
(c) A-B interaction is more as compared to A-A and B-B interactions in the pure liquids.
(D) None of the above

TS Uld fdcid A 1 [dargd B T Uidie: ST STl 8 YT Afysor H > 0 8. U8 SRTAI g -

(a) Y& 59T A-ATUIB-B 3014 e, A-B H o= foban & 90 3 |

(8) Y& GIH A-ATUIB-B 3 fpa ol e H A-B B s fpmr 0 © |
(© & %a T A-ATUIB-B 314 b1 &1 a1 § A-B T 3010 fopa1 I & |
(o) SRIFIH A BIS el |

Answer Given by Candidate : Not Answered

Sl. No.57
QBID:12345632

Match List I with List IT :

ListI List IT

IA. Optical Rotation

[ Stalagmometer

B. Refractive Index

1. Polarimeter

C. Relative Viscosity

[11. Abbe Refractometer

ID. Surface Tension

V. Ostwald Viscometer

Choose the correct answer from the options given below :
(a) A-II B-III, C-IV, D-I
(8) A-II B-IV. C-III. D-I
(c) A-L B-IV. C-II. D-III
(p) AL B-I. C-II. D-IV

T 1S 1Y Gt 11 DT FHeH Sife :
T 1 et 11

A |uor g L |[EaEHeR

B. |3udddie 1L |ygumsmdt

C. |smuféid =aral oL |afe SuacHisH
D. |ggdE Iv. “”ng

i< 34U T fao el © 9§ 91 3R &1 994 Bty ;
(A) A-II B-III. C-IV. D-I
(8) A-IL B-IV. C-IIL. D-I
(©) A-L B-IV. C-II. D-ITI
(p) AL B-I. C-II. D-IV

Answer Given by Candidate : A

Sl. No.58
QBID:12345633

What is the effect of pressure in the following equilibrium reaction : N, +0, = INO
(A) Reaction moves in the forward direction with increasing pressure.

(B) Reaction moves in the backward direction with inereasing pressure.

(c) Reaction remains unaltered with increasing pressure.

(D) None of the above

frafatad g sif¥fhar R a™ ST UHE RSN : N, +0, =2NO

(a) 3E geM R i s feen daedi g |

(8) CE dgH ¥ ATHThAI Ty R H gdi € |

(©) a§ 9gH TR HfHfEHUI IR BIg 7HIE Te! IS ¢ |

(0) IRIFH I PN ol |

Answer Given by Candidate : Not Answered

Sl. No.59



QBID:12345634
When a sample of NO; is placed in a container. this equilibrium is rapidly established :

2NO, (g) == N,0, (g)

If this equilibrium mixture is a darker colour at high temperature and at low pressures. which one of these statements about the reac
true ?

(a) The reaction is endothermic and N,0, is darker in colour than NO,.
(8) The reaction is endothermic and NO; is darker in colour than N,Oy.
(c) The reaction is exothermic and N,O, is darker in colour than NO,.

(0) The reaction is exothermic and NO, is darker in colour than N,O,,.
W4 U NO, & - Bl 47 T I@1 GIdl g ol doil o STae] U gl g -

INO, (g) = N,0,{g)

gl FraRT 7801 91 3 19 U4 SH ald IR C1IER1 611 6. 149 H 3 SI1 oy SHHfchar & R 9 8 2
() SHferaT IATRITE & TUT NO, B qET B N,0, T IG5

(8) SiferaT IS § AT N, 0, B a1 H NO, BT IR 5

(© SMffgT IIET 8 GUINO, B goH1 B N,0, BT JT T8 51

(o) SfferaT a8 GUTN,0, P g1 H NO, BT I eI 3

Answer Given by Candidate : Not Answered

Sl. No.60
QBID:12345635

Correct order of ionic conductance at infinite dilution is :
(A) H'>Li">Na">K~

(B) K'>Na >Li =H

(€) Na »K >H =Li

() H' >Na =K =Li

3 AT R TS Iawdl ST eI HH E -

(&) H'>Li">Na">K~

(B) K'>Na >»Li »H

(€) Na >K >H =Li"

(0) H >Na =K =Li

Answer Given by Candidate : D

Sl. No.61
QBID:12345636

Determine the Miller indices for a plane when intercepts along the axes are 2a. 3b. 2c.
a) (2.3.2)

;) (3.2.3)

) (2.3.3)

(@) (3.3.2)

U U0 & R o HuyiRd S oiF 318 & 1Y 39808 24, 3b. 2¢ © |
A) (2.3.2)

) (3.2.3)

) (2.3.3)

() (3.3.2)

Answer Given by Candidate : A

Sl. No.62
QBID:12345637




Match List I with List IT :

List I List IT
A Triclinic L a=b=c a=3=90%y=90°

B. Monoclinic [l a=b=c; a=B=y=90°

C. Orthorhombic I a=b=¢;v=f=0=90"

D). Tetragonal V. a=b=cu= B =v=90"

Choose the correct answer from the options given below :
(a) A-IL B-I, C-IV. D-III
(8) A-L B-III. C-IV, D-IT
(¢) A-IL BAII C-I, D-IV
(p) A-IV, B-I. C-III. D-IT
il 1 |1 el 11 1 [Ha I :
T T
A e [ a=b=c a=p=90y=90°
B ThHdI& L a=b=cu=f=7=90°
cfawrcialgr I a=b=cv=B=0=90°
D. aRyAGaE [V a=b=ca=p=7=90"
=it feg e fdeed! & T 9et SR o1 =79 Sifo -
(a) A-II B-I. C-IV. D-III
(8) A-L B-III, C-IV, D-II
(c) A-IL B-III. C-1. D-IV
(p) A-IV, B-I. C-I1I, D-IT

Answer Given by Candidate : A

Sl. No.63
QBID:12345638

The process of removing ions / molecules from a sol by diffusion through a permeable membrane is called

(A) Ultafiltration

(8) Dialysis

(c) Electrodialysis

(p) Electrophoresis

ORI f3reei! & gRT [agRur & 9l O 9 gl / U & g2 &l $ed o -
() Sayed e

(8) 3H4lE

(o faggd smea

(o) IS BT TaTH

Answer Given by Candidate : C

Sl. No.64
QBID:12345639
The order of interatomic distances in B,, B, and B is -
(A) B, <Bj <B;
- e
(8) B, <B, <B,
(c) B; <B,<B}
(D) B, <Bj<B}

B,.B; TUT B} ¥ SFORURHIG AT BT HAE -

(A) B, <Bj <B;



(®) B} <B, <B;
(c) B <B,<Bj

(D) B,<Bj<B}

Answer Given by Candidate : B

Sl. No.65
QBID:12345640

A wave function for the particle in a box is sketched below. What is the value of the quantum number, x ?

=—

) 1
) 2
(c) 3
(p) 4
TS HU & a1 Ha- &1 ARE A QU T g | Sea Tex HIHH G 2

= —

=3
n 1
@) 2
©) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.66
QBID:12345641

Given below are two statements : one is labelled as Assertion A and the other is labelled as ReasonR :

Assertion A : The density of diamond is much higher than that of ice though both solids adopt analogous structures.

Reason R : The ice lattice is held by hydrogen bonds which are significantly weaker than the covalent C-C bonds in diamond.
In the light of the above statements. choose the correct answer from the options given below :

(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(C) A istrue but R is false
(D) A is false but R is true

:ﬁ%as[mﬁ—qwg:@S{f\'l-ﬁﬂl:f(AssertionA)%Wﬁw%ﬁme(R‘easonR)$mﬁ:
DY A : STAHUS BT U %P Y dgd SUIG1 gidl & I 311 31 Y TR YRU PRI © |
HRUIR : 6 GIAP glagioH 89 GRI 44 Igd § ol 1o SIHUS & C-C Jgudiod a4 3 Wie Sud gad ¢ |
SRIGd YT P feirep H, 4 e T fapedt 7 9 9et SR &1 957 SIS :

(A) ARRIA TAT AR R AT T ARAT©

(8) A SRR T &, AP R. A T T5! AR T8l &
(© AYTE. AGAR SAAT

(0) AT T AFIRTAT

Answer Given by Candidate : Not Answered

Sl. No.67
QBID:12345642

Considering the following reaction :

"581:92 + 4He_, — '\'IXA + 1110

number of neutrons present in nueleus of X are



(A) 147
(B) 238
(c) 94
(D) 162

ferafarad sivfoar R faar ifs -

"33!:92 + 4He; —_ '\'IXA + ‘nD
e x ¥ Iuflyd ggiH! 31 Ten § -
(A) 147
(B) 238
(c) 94
(0y 162

Answer Given by Candidate : A

Sl. No.68
QBID:12345643

A commercial FM radio station operates at 100 MHz. The wavelength. i. for the radio wave is

(Given : C =3x108 ms™1)

A) 3x1012m
(B) 3m

() 3nm

(p) 300 nm

TS aHIAS FM (ST 100 MHz TR BTH TRAT § | ST T BT S (1) © -

(e mar : c=3x108 ms™)

(A) 3x1012m
(B) 3m

(c) 3nm

(D) 300 nm

Answer Given by Candidate : A

Sl. No.69
QBID:12345644

For the following electrochemical cell
24 3| 2+ L P
Culs) |Cu {aq.l.{}o mol dm I”Zn {2g.1.00 mol dm | Zn(s)

choose the correct option in the light of the following standard electrode potentials :

Half - reaction E°/V
—1—C113+|aq| +e_—'7-i—Cuts] +0.34
1. 2+ - 1. \ s
:én (aq) +e —)E.Zrz‘._sj H0.76

(A) The potential of the cell is —1.10 V and the zinc electrode is negative.
(B) The potential of the cell 15 +1.10 V and the zinc electrode is negative.
(¢) The potential of the cell is —1.10 V and the zine electrode is positive.

(p) The potential of the cell is +1.10 V and the zinc electrode is positive.



Fraferad faegd wama= 3o & fo

2

Cu(s) |C1.1‘E+ {{_ﬂﬁla}, 1.00 mol dm ” |Zn‘!+ {f_?ﬁ'?ﬂ}: 1.00 mol dnl_?"lll Zn(s)

Frmfifed T gaders fava & el & od e 31 7R

3 - SATUeEaT E°/V
1 g NP - 1
;Cu (Aelg) +e — ;Cuisr H0.34
1 2+ i - 1 . oo
?Zn (A} + e —‘,TZn‘sr H0.76 V

() I FTfaHT-1.10 v 71 i SoaeTs HOTES ©
(8) ITHT faya +1.10 v a1 i 50acls BUnas §
© JaHfaya-1.10 v qur fie geaeTs =T §
() IA F1faya +1.10 v U1 S gaaeTs o &

Answer Given by Candidate : D

Sl. No.70
QBID:12345645

If JHf,'ap =30.8kImol " and ._\.S?_dp ~87.2Jmol P K 7! for benzene. what is the boiling point of benzene? Assume that -_\Hffap and
are independent of temperature.

(A) 0.35°C

(B) 353°C

(c) 80°C

(p) 1.0°C

e Tl B T aBS 5, =308k mol ™ TUI ASS . —872Jmol " K~} T, &SI DT SYATH F1 S 2 T HHd 5 b A

AaiTs T aeits
ASS iere OO W WA T |
a) 0.35°C
(B) 353°C
(c) 80°C
(p) 1.0°C

Answer Given by Candidate : Not Answered

Sl. No.71
QBID:12345646

The phosphorescence wavelength is

(A) longer than the absorption wavelength
(B) equal to the absorption wavelength

(c) shorter than the absorption wavelength

(p) equal to the fluorescence wavelength
TR BT AR & -

(A) 3fERINU Tae 3 3l

(8) ARV TG & g

(© 3GV TG H H1

(o) WREIG R & qed

Answer Given by Candidate : Not Answered

Sl. No.72
QBID:12345647

Which of the following statements is false ?
(A) There are four vibration modes in carbon dioxide

(8) The IR spectrum of CO, shows only two absorption bands
(¢) IR active vibration bands must have a change in dipole moment

(p) The bending mode of CO, is IR inactive.

frafarad Tyl 8 9 ST $UF 3Fd§ 2



A P SRS § IR U f[AuE |

(B) CO, PTIR TFZH Pac 4l IR &5 ST S |
(© IR Tfera & 381 7 fgya smaul & gfvad o<l © |
() CO, P! §@- el IR RIfPT§ |

Answer Given by Candidate : D

Sl. No.73
QBID:12345648

Given below are two statements :

Statement I : Every molecule has a vibrational Raman spectrum.

Statement IT : In vibrational Raman spectra. Stokes lines are more intense than anti-Stokes lines.
In the light of the above statements. choose the correct answer from the options given below:
(A) Both Statement I and Statement I are true

(B) Both Statement I and Statement IT are false

(€) Statement I is true but Statement II is false

(D) Statement I is false but Statement IT is true

i <l Py far U E:

BYUT1: YAD U] B B I WaH Bl g |

FYA 11 : HYUFD I WagH T USI-KlS Ae $I qa-1 § 1P ATe P TG el © |
SRIGd PY P fTeie H, 14 foU Y fawedi & 3 981 I o1 997 FIfo .

(A) PYTIAR IS TA T

(8) YT 1 AR IS 3T §

(© DU 19 T, A PYT 11 3T §

(0) FYF 13T g, AT FUT 1 TI ©

Answer Given by Candidate : D

Sl. No.74
QBID:12345649

When two ¢ - bonds on the same carbon cleave, the following chargeless carbon species will be formed with six electrons in the v
shell.

(A) Benzyne only
(B) Carbene only
(€) Nitrene

(p) Both carbene and benzyne

TS Bl HE R al ¢ - 88 ger R, Fafafad 3§ 3 iRl srawrfed wizi adt ¢ fSae daivea @ § ©: aaeH 6 -
(A) PHad ST

(8) Had HIEA

(© A

(D) IS qUT S=oTe gt

Answer Given by Candidate : B

Sl. No.75
QBID:12345650

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :
Asgertion A : Cyclopropane is more prone to undergo ring-opening reaction than cyclobutane.
Reason R : According to Bayer strain theory, cyclobutane is more highly strained than cyclopropane.
In the light of the above statements. choose the correct answer from the options given below :

(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(€) Aistrue but R is false

(D) A is false but R is true
:ﬁﬁﬁmﬁqwg:W\Hﬁ@iﬁ[AssertionA}%Wﬁw%ﬁme(RﬁsonR)%Wﬁ:
SHfHYT A FHFASICH B qaT 8 Agaa o aad gaq aral sififdar & ufa sarer wad g

FRUIR : TR LA T & IR FLaayi- &1 da-l § Seddiede saral [ded gl

SWRIGd BYF D 3Taiiep H, A1 [ 70 faeedl & I ¥el 3tk &1 98- Pifoig:

(A) A SRR I TTE SRR, AP Jgl TR ©




(8) ARRIF TUE. AfPIR AT IS AR e &
(© AYIE. APIRIGAR
() AJTIE. APTRIAR

Answer Given by Candidate : Not Answered

Sl. No.76
QBID:12345651

Given below are two statements :
Statement I : E, reaction follows second-order kinetics and not accompanied by rearrangements.

Statement II : E, reaction shows large hydrogen isotope effect.

In the light of the above statements. choose the correct answer from the options given below:

(A) Both Statement I and Statement IT are true

(B) Both Statement I and Statement I are false

(€) Statement I is true but Statement II is false

(D) Statement I is false but Statement IT 1s true

:ﬁ%ﬂmﬁqm% : Eﬁa{ﬁ-@?ﬂ [AssertionA)%Wﬁﬁ@ﬂ%ﬁ@ﬂmm(&eason R)%Wﬁ 3
PYAL: E, AT G DIfe TiP! T S8R0 Bl & aul 598 AId-a19 A8l slal @ |

TYT 11 : B, SHFha1 <19 gregion Sedicy HHTE SRt ¢ |

SWRIGd HYUA D Hells H, =< fau T8 fasedi # I T8 Gk &1 90 S :

(A) HYFI R GH T §

(8) HYFI ARG 3T ©

(©) TUF19A . Al HUT 11 39 §
(D) YT HTA B, AP PUT 1 T &

Answer Given by Candidate : C

Sl. No.77
QBID:12345652

The absolute configuration (R/S configuration) of the following molecule s

oH
/\4)\2/0140
HO = 3 =
OH ol
(a) 2R.3R.4R
(8) 2R.3S.4R
(c) 28.3R. 4R
(0) 2R.3R.4S
frafaraa smy @1 FRae faam (rv/s faam) & -
oH
HO ERR -
OH ol
(A) 2R.3R.4R
(8) 2R.35.4R
(c) 25.3R. 4R
(0) 2R.3R.4S

Answer Given by Candidate : A

Sl. No.78
QBID:12345653



Match List I with List IT :

List I List IT

1. Aromatic

1I. Anti-aromatic

C. m III. Homo-aromatic

TV. Non-aromatic

Choose the correct answer from the options given below :
(a) A-IIL B-III, C-1. D-IV
(8) A-IV. B-II. C-I. D-III
(©) A-LB-IL C-IIL D-IV
(p) A-IL B-II. C-1. D-IV

il 1 A1y Gl 11 D1 B BIe :
B BEih

A @ |
B. @ I -

C. @ . gARAR S
D. @ V. 3 - WS

i< f3u T fasedl © 9§ 91 TR &1 99 Bifely -
(Ay A-IL B-IIL C-I D-IV
(8) A-IV. B-IL C-I. D-III
(¢) A-L B-IL C-IL D-IV
(p) A-IIL B-IIL, C-I. D-IV

Answer Given by Candidate : D

Sl. No.79
QBID:12345654

Given below are two statements :
Statement I : The rate of Sy;1 reaction depends on both the carbon skeleton and the nucleophile.

Statement II : The rate of Sy;2 reaction depends on the carbon skeleton. the leaving group and the nucleophile.
In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement I and Statement IT are true

(B) Both Statement I and Statement II are false

(€) Statement I is true but Statement 1T is false

(D) Statement I is false but Statement IT is true

BUF : Sy1 AT 1 377 1aA far qur iR aHl R R aRar g |

DY : Sy2 SHHRPT D147 BIe ST, AP JE AU AMHDHG R AR BIATE |

SWRIGd $Y P el H, -4 fau T8 fapedt F 9 98t SR &1 957 SIfo -

(A) HYF 1R GH T &
(8) HYF IR GH AT



(© Y1 T 6. AT HUT I ITI 8
(0) PYTI IS, APT HUT I T ©

Answer Given by Candidate : B

Sl. No.80
QBID:12345655

Which of the following trends of nucleophilicity is not correct?

A. Ft0O” > OH
B. NH; >H,0
C. PhO™ > TOH
D 1 sBr
o)
E Il e

. p @
CH; -C-0>CH;-CH, - O

Choose the correct answer from the options given below :
A) Aand C only
(8) AandE only
(¢) BandD only
(o) C and E only

Frafaiad & O it ot gl & $1-9 $H 98l T8l § 2

A Et0” > OH
NH; >H,0
. PhO~ > "OH

- 1" »Br”~
o]
Il &

M Y0 w

) <
CH; -C-0>CH;-CH, - O

9 fau ¢ fa el § ¥ 9ad SUgdd SR ®f 90 DI :

(A) PagATUIC
(8) Had ATUTE
(©) Had B AU D
(D) Hadd CIUTE

Answer Given by Candidate : D

Sl. No.81
QBID:12345656

The major product of the following reaction is

_________ , 9

CED

(A)

HO
OH

(B)

HO 0



©) OH

CH,0” Y0
OH

(D)

11O
frafefaa sififem o1 ge sae @ -

H, O

NaBHy
MeOH

CH;0 (9]
H, ,0O

(R)

I

HO

(B)

A

H O

OH

©)

o
5
b 2

(D)

110
Answer Given by Candidate : Not Answered

Sl. No.82
QBID:12345657

The reaction between methylbromide and sodium t-butoxide delivers
(A) t-butyl methyl ether

(B) t-butyl alcohol

(c) dimethyl ether

(p) di-t-butyl ether

B SiTES a1 SifSaH roeiaass 3! e I wra glar g
(a) t+-Sfed BT R

(B)



t-ogfcd Tehlgd
(©) SRANUAZR
(D) Sﬁta{ﬁﬁ 'SFW

Answer Given by Candidate : Not Answered

Sl. No.83
QBID:12345658

Match List I with List IT :

LISTI LISTII
A |Aldehyde + NH,OH I.  |Semicarbazone
B. |Aldehvde +NH; —NHy | 1I.  |Phenylhydrazone
Aldehyde + PhNH —
C. NHE i I |Oxime
Aldehyde + HyN - .
D. NHCONH, IV. |Hydrazone

Choose the correct answer from the options given below :
(a) A-IIL B-1V, C-1I. D-I
(8) A-IL B-I. C-II. D-IV
(c) A-IV, B-II, C-1, D-IT
(p) A-L B-IV. C-II. D-IIT

T 1S 1Y Gt 11 DT e Sif

T I T 1T
A |ofESEES +NHL,0H | 1 |[&fi@Ete

% TCSEIES + NH, - i

o |NH, - |PiERE
UitSels S + PhNH - &

54 NH, 1. |3Hfedg

UfT8BIES + H,N - i A
B NHCONH, > 2

Hid feu Tt fawedl § T Ul 3k &1 999 Sifold ;
(A) A-IIL B-IV. C-IL. D-I
(8) A-IIL B-L C-IL. D-IV
(¢) A-IV. B-IIL C-I. D-II
(0) A-L B-IV, C-II. D-III

Answer Given by Candidate : A

Sl. No.84
QBID:12345659

Given below the following statements

A. p-nitrophenol is more acidic than phenol.
B. p-nitrophenol is less acidic than 3. 5-dimethyl-4-nitro-phenol
C. Phenols acidity is based on the stability of the corresponding conjugate bases.
D. p-methoxyphenol is more acidic than phenol.
E. Phenols are more acidic than alcohols.
Choose the correct answer from the options given below :
(A) A.B.C.Eonly
8) A.B.D.E only
() A. C.Eonly

(o) A.Eonly



Fo FYTAE UM E

A. T5A1a T p-ATSelithTd vad i g |
B. 3. 5-SIeHIUT-4-AT5 Il U p-ATgeih-ld &4 3T § |
C. TOpTe P1 Sl 34 GG &R & Wiid W YRGBl © |
D. fopA1a ¥ p-uTafitera oiftie onclia g |
E. Ueohigid U fipaia e el 8 |
I feu T fdoedl ¥ Had SUgad SR o1 90 Bl :
(A) HAA A, B.CTUTE
(8) Hdd A.B.DAUIE
(©) Hdd A, CAUE

(D) HAAATYUE

Answer Given by Candidate : C

Sl. No.85
QBID:12345660

The major products of the following reactions respectively are -

0
K b CFCO4TT
@A Ha —3 » A
0
CH,
CF,C0:H
CH, ————10
CH,

i T CH;
(A) A= [&j/a\woj/o\cﬂ; B= ﬂuj/a\]fo\fm

CH,

0 ;
L CH,
0. CH
(8) a8 0~ Nen
A= [ B= :
0
o CH,
L CHy o A
(© o \l CH,
A= B= 3
0
OH 0|“
CH;
(D) W P T §
a= || 5 B= ci,
# ~

frafafad sififtrast & g Sae oo § -

(8]

S

CH, _CReom

0

CH,
on, _CECOH o
CH,
CH,
5 ]/0\ 7y (O\< ;
(A) A= [ ) CH, ﬁ:“ ] [ ™~cH,
o o o o c,

CH

OL -
3
AL, CH
Moy 3 " ;
e A= I B= ¥ s
(8]
((9)]



o CH,
k . s} A
O \l CH,
A= B= 3
0
on oH
J\ J CH,
(0 Lo sl s ;
a= | Hs B= ci,
i a8

P B

Answer Given by Candidate : Not Answered

Sl. No.86
QBID:12345661

The order of acidity of the following carboxylic acids is -

CH;COOH CH;CH,CH,COOH CICH,COOH Cl,CHCOOH

A B C D
(A) D>C>B=>A
) D=C>=A>B
() A B>=C=>D
(0) BA=C=>D

fafafad seiede ol o SFad P HI -

CH3;COOH CH;CH,CH,COOH CICH,COOH Cl,CHCOOH

A B C D
(A) D>C>=B>A
) D=C>=A>B
(c) A>B=C=>D
() BA=C=>=D

Answer Given by Candidate : D

Sl. No.87
QBID:12345662

| N \%

Reaction coordinate —3

The first and second steps respectively of the above two-step reaction are -

(A) Endothermic and Endothermic
(B) Endothermic and Exothermic
(¢) Exothermic and Exothermic

(D) Exothermic and Endothermic

! W\L

Reaction coordinate —

JWRIE 51 U] ara Afiforar & ford gug vd fgdia ug Haen: © -
(A) FETRIY! YT IR
(8) ITHTRIY qT A&l
(©) ISATEYT quT FTAt
(o) IeTad] ayr IR

Answer Given by Candidate : B

Sl. No.88
QBID:12345663

The major product formed in the reaction between n-butane and chlorine under photochemieal condition is




(A) 1 - chlorobutane

(8) L. 2 -Dichlorobutane

(€) 2 -chlorobutane

(D) 1.3 - Dichlorobutane

TpTR 1 FURRUTT T n-Sc qUT TR Bi 3ififchar T & aTdl Ji SUME © -
() 1 - RIRSSA

(8) 1.2 - SHaIRISIC

(© 2- TR

(D) 1.3-3@@@@@3

Answer Given by Candidate : Not Answered

Sl. No.89
QBID:12345664

Given below are two statements :

Statement I : Any molecule which has a plane of symmetry or a centre of symmetry is achiral.
Statement IT : Compounds that contain stereogenic centres but are themselves achiral are called meso compounds.
In the light of the above statements. choose the correct answer from the options given below:
(A) Both Statement [ and Statement II are true

(B) Both Statement I and Statement II are false

(€) Statement I 1s true but Statement II is false

(D) Statement I is false but Statement II is true

fRd wuEfRumE: _

FYA1: DIg ol THa FAHIT 3ryaT 5 FHT o U], S giarg |

HY 11 : TY FiiiTep o FAfamorl o 8. T T B, Agraie Sean © |
SRIF Y F e . 19 37 T8 fawei & 3 38 S| o1 994 Sifon -

(A) FYFI RIS T3 §

(8) FHYTI ARSI 3 TA ©

(© FUTI19A B, Al PUT 11 3 §
(D) HUT I HIA 7, A= U1 A §

Answer Given by Candidate : A

Sl. No.90
QBID:12345665

The major products of the following reaction is (are)

CH,
o= NaNI,
NH3z (lig)
Br
CH,
(A)
NH,
CIL,
(B)
NH,

(©)



CH,4

NH,

Br
CH,

CI1,
(D) @ and @\
NH My

Prafifad SR & e SaE 8 -

CH,

= NaNIH 4 7
Lz NHz(lig)
Br

CH,

N @
NH,

CIl,

NH,

CH,
(©)
NH,
Br

CH,

i cIi,
N, NH,

Answer Given by Candidate : C

Sl. No.91
QBID:12345666

Consider the following statements :

A The addition of HBr to unsymmetrical alkenes is Markovnikov addition.
B. In the presence of peroxides. Anti-Markovnikov product is formed.
C. E, climination at bridgehead position is easy to oceur.

D. 82 reaction at vinylic positions is difficult to oceur.
Choose the correct statements from the options given below :
(A) A.Band C only
8) AandD only
(¢) BandD only
(0) A.BandD only



9 gaqag] W faar Sife -

A. 3T TedhF R HBr BT YN, HIGHIPIG TN T |

B. RIFHSS & ST § Tl-Tiai-ieia SdE T gidi ¢ |
C. IR WA R E, 09 S A gare |

D. TEf® W W sy2 SffFm afeag |

i fau U fas el O U Tt dadad| ol 90+ Hifuu :
(A) HAAT A, BAUTC

(8) Had ATUID
(©) FAABTYUID
(D) A A, BTUID

Answer Given by Candidate : A

Sl. No.92
QBID:12345667

The major product of the following rearrangement reaction is

Ph CH,4

I -
Ph—C—C—CH; ——5 ?

JL. )

OH OH

Ph O

[, il
() Ph—C—C—CH,
| 3

CH,

0
(8) CH; —C—C—Ph

Ph

Ph O

it L]
(cy Ph—C—C—OCH,
| :

CH,

i
(D) CH, —cl'—c—oph

Ph
fraffa oo eftfrar e ger sae € -
Ph CH,
| +
Ph—C—C—CH;—2 52
|
OH OH
Ph O

[} i
(A) Ph—C—C—CH;
| )

CH;

e
(8) CH; —C—C—Ph

Ph

Ph O
I L

(¢) Ph—C—C—0OCH,
| 3

CH,

(® CH;0
ke =l
CH; —C—C—OPh
|
Ph



Answer Given by Candidate : A

Sl. No.93
QBID:12345668

The claison condensation of ethyl acetate in the presence of sodium ethoxide delivers
(a) CH3COCH,COCH,

(8) CH;COCH,COOEt

(©) (CH,COOEY),

(0) CH;COCH,COOH

TifsTy wulauss & Sufufd ¥ ufie udice & o 991 U 8idT & -
(a) CH3COCH,COCH,

(8) CH;COCH,COOEt

(¢ (CH,COOEY),

(0y CH3COCH,COOH

Answer Given by Candidate : Not Answered

Sl. No.94
QBID:12345669

How the following compounds are related to each other?

OH

H
HOOC \)\

COOH
H

~
ol

HOOC
COOH

-S

(3|1

OH
(A) Diastercomers
(B) Enantiomers
(c) Identical

(p) Epimers

frafafaa oife R $8 gefaa g 2

OH

OH
HOOC = uooc\\v/l\\
\\/\

i COOH
OH H

(n) faaig gH@Ea
®) wfafams gamEafa
(c) HH=U

(D) Q[ﬁﬂ?

Answer Given by Candidate : B

COOH

o)L

Sl. No.95
QBID:12345670

The stereochemical requirement for E, elimination is :
(A) syn - periplanarity

(B) anti - periplanarity

(c) Both sin and anti periplanarity

(p) No stereochemical requirement

E, fad= & ford ifarwems o sraxasdar g -
() 17 aRgwdciad

(B) Q%’?-ﬂﬁ_\qﬂﬂ?ﬂﬂm

(© &HI g7y seTaRegaeadl

(o) Tel AfgTRErH &1 sl 78l gl

Answer Given by Candidate : D

Sl. No.96
QBID:12345671




Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : In ethylene glycol, skew conformation is more stable than staggered conformation.
Reason R : Staggered conformation is unstable due to steric hindrance.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(€) Aistrue but R is false
(D) A is false but R is true

ﬁﬁmmm%:WS{f\w%ﬁ(AssertionA)%Wﬁﬁ@ﬁ%ﬁ@ﬂmm(measonR)%Wﬁ:
SHYDHYT A . Ty TgPic & fAvadeiy 9=y, idkd S99 9 e I et |

PRUR : 5T 9191 % SR FiaRa =0 RS gl g |

SWRIF DY D i 1, Al [T T fasedl H U ga9 3ugad SR &1 99 DIl :

(A) A SRR 8§ AR R AT I6! AR B

(8) A SRR EH ST PR AT S e R ©
© AR APAR TG TS T

(D) AWl El & A R TEI ©

Answer Given by Candidate : C

Sl. No.97
QBID:12345672

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :

Assertion A : Methoxymethyl chloride undergoes hydrolysis more than 10* times faster than methyl chloride.
Reason R : Methoxymethyl chloride undergoes Sy 1 mechanism.

In the light of the above statements, choose the correct answer from the options given below :
(a) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(€) Aistrue but R is false
(D) Ais false but R is true

ﬁ%aﬁmﬁﬁqﬂq% : WS{f\W?ﬁ(AsserﬁonA)%Wﬁw%ﬁme(RﬁsonR)$mﬁ:
it A« AN FTRES &1 99-s0ucH. ARTeRES ¥ 10* T 3#fY@ dofl S giars |
PRUR : HUEERT waREs ¥ sy 1 fharfadh gidi g |

SWRIFd DY &P el H, i AT 71U fadedi & I 969 3ugad SR &1 99 DIl :
(A) A SRR UGl § SRR AP IS AT §

(8) A SRR UGl g, AfPTR. A g Tl §

© ATIRAGIR IS TR

®© AT TRIZIPTRTE R

Answer Given by Candidate : Not Answered

Sl. No.98
QBID:12345673

Consider the following reactions involving Sy2 mechanism :

A Nuw +R-L—R-Nu+L:
B.Nu:+R-L—R-Nu +L:~
C.Nu+R-L"—sR-Nu+L:
Which of the above reactions will be accelerated upon increasing solvent ionizing power :
a) Only A
(8) Only B
(¢) OnlyC
(D) BothAandC



sy2 fparfadt @t Fafafad siftfhal 1R faumR PifsT .

ANuw +R-L—-R-Nu+L:™
B.Nu:+R-L—R-Nu +L:~
C.Num+R-L"—=R-Nu+L:

IRIGd T T et afuferar ar sifuferam fams ot smufae amar de R, aRd enft

(A) Had A
(B) Had B
(©) FadC
(©® TAfASRC

Answer Given by Candidate : D

Sl. No.99

QBID:12345674

Given below are two statements :
1

i
StatementI:

i
¢—N7 s stabilized by resonance.
i 1
Statement II : In the above structure. formal charges on C and N are +1 and —1 respectively.

In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement I and Statement I[ are true
(B) Both Statement I and Statement II are false
(C) Statement [ is true but Statement II is false

(D) Statement [ is false but Statement II is true

PEL: NN SRR R |

re T
11

mx:m:%cﬁa"rﬂﬁiwmﬁc 3R N R oy ey S +1 AR -1 7 |
IWIF FYF & el O, 4 G U f[dpedi ¥ O gl 3 &1 994 I

(A) FYFI RIS 9@ §

(®) HUF 1 AR FHI A T

(© YT I 3. Al PYT I A §
() FYTI AL AFT PN TIE

Answer Given by Candidate : C

Sl. No.100
QBID:12345675

Reaction of Z-2-phenyl-2-butene with bromine leads to 63% anti addition and 37% syn addition. while that of Z-2-butene leads to

anti addition. This can be explained as :-

A Formation of an intermediate three membered ring cation- a bromonium ion.

B. Interaction of n-bond of the alkene and diatomic bromine molecule leads to polarization of bromine molecule.

C. Bromonium ion is more stable than the corresponding open carbocation intermediate.
D. Bromonium ion is less stable than the corresponding open carbocation intermediate.

Correct answer is :
(A) AandC

(8) AandD

(¢ A.BandC

(o) D only

z-2-Wfd-2-s4fe Bt 3HHAT SIHH & WY S W 63% TGN 3R 37% AR EIATg | Fafds z-2-

YT g | SUHT el PRUIE -

A, T ge=iig T gy Teadl 9991 - U SiHi-ay -

B. Ueh M & 2-8 7 fganfiae s & Ae1 URTIR® SN §RI STHH BT Ydid=ul g |

C. ST 3mE TEfEa Gar sEiheny 3 3ifte el g e |
D. SHITH 3197 Wafiid G Saided- 8 55 i giar e |

H_Expfm%:

(R)

. 100% T=21T



A3RC
(8) A3RD
(© A B3RC
(0) HadD

Answer Given by Candidate : Not Answered




